JPM-13CS Stand and Motor Assembly

Product Images



https://jpw-catalog-qa-b2c-5.corevist.cloud/jpm-13cs-stand-and-motor-assembly

Description

Index
Number

1

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

29

Part Number

VB-M45
TS-0051011
PJA-CO3
MHA-S01
TS-1550061
TS-2288202
TS-1551061
MHD-S02
TS-1490031

5FK-C13A

MHA-S02AW

MHA-S02W
MHD-S01
TS-1540061
MHA-S02B
MHA-S14
5MA-104
MHA-516
JEA-S14
TS-1540021
5EB-E05
JE090702
5EB-A04
5CD-C06B
JEO11302
JI-X01
5AL-C10A
TS-1550021
TS-2284301

PJN-S04

Description

V-Belt

Hex Cap Bolt

Washer

Motor Pulley

Flat Washer

Pan Head Machine Screw
Lock Washer

Motor Bracket

Hex Cap Bolt

Key

Motor

Motor Assembly (includes # 10,11,14)
Stand

Hex Nut

Motor Cord

Switch Cord

Strain Relief Bushing
Power Cord

Switch Box

Hex Nut

Star Washer

Plate

Washer

Screw

Switch

Switch Cover

Pan Head Machine Screw
Washer

Flat Head Machine Screw

Eccentric Cam

https://jpw-catalog-qa-b2c-5.corevist.cloud/jpm-13cs-stand-and-motor-assembly

Size

5/16-18NCx1/2

M8

M8x1.25x20

M8

M8x1.25x20

5x5x30

1% HP
115/230V

M8x1.25

14AWG

14AWG

14AWG

M4

M5

M5

3/16-24NCx1/2

M4x25

M4x.7x30

Qty

714125


https://jpw-catalog-qa-b2c-5.corevist.cloud/jpm-13cs-stand-and-motor-assembly

30

31

32

33

34

35

36

37

38

39

40

41

42

43

44

45

Additional Information

TS-1523011
HG010911
PG010033
MHD-S03
SEA-EO6A
PJ100001
TS-0561031
PJE-SO5
5CA-H16B
PG-M02
TS-1503031
PJN-502
TS-1550071
TS-2342101
TS-1550041
HS020440

STRIPE-1-3/4

Set Screw

Spring Pin

Spring

Shaft

Flat Head Screw

Door

Lock Nut

Wheel

Hex Cap Bolt

JET Label

Hex Socket Cap Screw
Foot Brake

Washer

Lock Nut

Flat Washer

Hex Socket Cap Screw

JET Stripe (not shown)

M6x1.0x6

4x20

M6x1.0x12

3/8-16NC

3/8-16NCx2 %

M6x1.0x12

M10

M10x1.5

M6

M6x70

1-3/4"W

per ft

Stock Number

Products in this set

708524-4

Washer | TS-1550041

https://jpw-catalog-qa-b2c-5.corevist.cloud/jpm-13cs-stand-and-motor-assembly

714125


https://jpw-catalog-qa-b2c-5.corevist.cloud/jpm-13cs-stand-and-motor-assembly

